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Instructions to the Examinee :

1.

Do not open the booklet unless you are

asked to do so.

The booklet
Examinee is required to answer any 50
OMR Answer-Sheet
provided and not in the question booklet. If

contains 60 questions.

questions in the
more than 50 questions are attempted by

then the first attempted 50
questions will be considered for evaluation.

student,

All questions carry equal marks.

Examine the Booklet and the OMR Answer-
Sheet very carefully before you proceed.
Faulty question booklet due to missing or
duplicate pages/questions or having any
should be got

other  discrepancy

immediately replaced.

(Remaining instructions on the last page)
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(A) YR SHII

(B) WIeRI T

(C) e

(D) TH. TH. MR
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(A) Ha!

(B) g
(C) o™
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ffofad & ¥ oH-91 dadd SRD
g7

(A) R
(B) RIT 3% Uler

(C) R GIRBIC

(D) STESMIFIH BiRWe
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(3)

Father of Agronomy is :

(A) Petero Decresenzi

(B) Jethro Tull

(C) Liebig

(D) M. S. Swaminathan

Which crop requires lower temperature at

the time of sowing ?

(A) Maize

(B) Wheat

(C) Rice

(D) Cotton

Which of the following complex

fertilizer ?

(A) Urea

(B) Murate of potash

(C) Single superphosphate

(D) Diammonium phosphate

Set-A



4, &1 9T Bl URafdd fdar S Hedl & 4.  Texture of soil can be changed by :

(A) SRS gN (A) Use of fertilizer
(B) GSEIERER] (B) Irrigation
(C) S WE gRI (C) Use of organic manures
(D) SUYa H H Bl el (D) None of the above
5. ¢ $T IS 9H 8 5. Botanical name of paddy :
(A) JRTSSIT HTgdT (A) Oryza Sativa
(B) fomr &= (B) Zea mays
(C) UTSHH HergaH (C) Pisum sativum
(D) T $§3ﬂ (D) Avena fatua
6. SN B Pl ISV @ 6.  Example of cover crop is :
(A) HdPT (A) Maize
(B) €T (B) Pearl millet
(C) g (C) Paddy
(D) S (D) Urd
7. g fIem v fog WreT @1 © 7 7. The term ‘Agronomy’ is derived from

which language ?

(A) dfes (A) Latin
B) U@ (B) Greek
(C) %4 (C) French
(D) ¥RdM (D) Indian

Ag-102 (4) Set-A



8.

10.

11.

YOO T e @

(A) YR SHII

(B) IRl T

(C) T TH. 94

(D) . O, ¥rsd

IRar & g o gl g g
(A) 46

(B) 48

(C) 20

(D) 16

IR T H pH-A B dFl A H°
SIS ST © 7
(A) FTH

(B) 3ficf
(C)

(D) &N
WRT T TR §
T W

HIHT A

(A)
(B)
(C) g9 ¥

(D) R A

Ag-102

(5)

10.

11.

Father of Tillage is :

(A) Petero Decresenzi
(B) Jethro Tull
(C) S.S.Bains

(D) G.J. Mendel

Percentage of nitrogen in urea is :

(A) 46
(B)

(C) 20

48

(D) 16

Which crop is grown in U. P. in all the

three seasons ?

(A) Maize

(B) Potato
(©)

(D)

Paddy

Cotton

Khaira disease belongs to :

(A) Wheat

(B) Maize
Rice

(©)

(D)

Sorghum

Set-A



12. ‘B9 BIET EIeg!’ g gnT fordl 12. ‘Horse Hoeing Husbandry’ was written

7 by :
(A) IRT T (A) Jethro Tull
(B) MR I (B) Arthur Young
(C) ©l. T =R (C) J.S. Kunwar
(D) . 4t ofeT (D) J.V. Liebig
13. 3RE @I 3Ifd I X 2 : 13. The optimum seed rate of pigeon-
pea:
(A) 10-12 Ui, (A) 10-12 kg/ha.
(B) 12-15fHuifR. (B) 12-15 kg/ha.
(C) 15-20 fHu/R. (C) 15-20 kg/ha.
(D) 20-25 fHuTfR. (D) 20-25 kg/ha.

14, 91 ®4T £ ) S ) i e A 14. Percentage of CO, in soil air is :

gferddr Bl ©

(A) 0.3% (A) 0.3%
(B) 0.03% (B) 0.03%
(C) 0.25% (C) 0.25%
(D) 0.50% (D) 0.50%

Ag-102 (6) Set-A



15. f=fafad § 9 oF-91 Uh IN-gg9Hd  15. Which one of the following is a non-

selective herbicide ?

RICEIRIE

(A) TIRHRIT (A) Glyphosate

(B) W (B) Paraquat

(C) (A) ¥R (B) T (C) Both (A) and (B)
(D) SWE ¥ | TS el (D) None of the above

16. R @ UMl & 9 SREG & YA B 16. Use of fertilizer with irrigation water is

FEd E called :

(A) ¢Ad (A) Fumigation

(B) WeHIvH (B) Fertigation

(C) 3feliTa (C) Isolation

(D) Sugad F4I (D) All of the above

17. RGN 999 a9 f9RT @ W@IuET &9 17. Indian Meteorological Department was

E_g 5 established in :
(A) 1975 (A) 1975
(B) 1875 (B) 1875
(C) 1932 (C) 1932
(D) 1962 (D) 1962

Ag-102 (7) Set-A



18.

19.

20.

21.

qIgAvSA Bl el | T :
(A) SURPRR
(B) HARWRR
(C) WCIRRR
(D) YUHRHRR

TSNl U &
(A)  IMHEN
(B) il
(C) HaBHN
(D) RS

R B ST SR Fef & 2

(A) TEGTS
(B) HIUTA

(C) BXEIE
(D) T feeel

frfoRad & & dl9-1 B &g © ?
(A) FHERT

(B) MR T WE

(©) P I WK

(D) ST W

Ag-102

(8)

18.

19.

20.

21.

Lower surface of atmosphere is :

(A) Troposphere
(B)
(©)

(D)

Mesosphere
Stratosphere

Thermosphere

Azollaisa:

(A) Herbicide
(B)
©)

(D)

Insecticide
Fungicide

Biofertilizer

Indian Agriculture Research Institute is

located in :

(A) Lucknow
(B)
©)

(D)

Bhopal
Hyderabad

New Delhi

Which of the following is organic manure ?

(A) Compost

(B) Farm Yard Manure

(C) Vermicompost

(D) All of the above

Set-A



22, 39 URT IS W B 22. Ozone layer is found in :

(A) TRHRR ¥ (A) Stratosphere
(B) HIRWRR # (B) Mesosphere
(C) SIURPBRR | (C) Troposphere
(D) JHRHRR H (D) Thermosphere
23. HMFHITIT B G FEdT SHAT Bl @ - 23. Cropping intensity of monocropping is
always :
(A) 100% (A) 100%
(B) 200% (B) 200%
(C) 300% (C) 300%
(D) 400% (D) 400%
24. T DI G [P gRT AW S © ? 24.  Wind speed is measured by :
(A) @ feeeid (A) Wind vane
(B) T-MMIeR (B) Anemometer
(C) TUIeHIeR (C) Potometer
(D) TR (D) Tensiometer
25. WRA ¥ fde Sary & § ? 25. There are how many climatic zones in
India ?
(A) 16 (A) 16
(B) 15 (B) 15
(C) 20 (C) 20
D) 9 (D) 9

Ag-102 (9) Set-A



26. Yg AT H SifeioM &1 fbaw wfed 26. What is the percentage of oxygen in pure

BT & ? air ?

(A) 21% (A) 21%
(B) 20% (B) 20%
(C) 19% (C) 19%
(D) 78% (D) 78%

27. TIREq Ui wrawen & @17 0 & 4@ @ 27. Growing of two or more crops

cH W S T A Y IRF wEa @ simultaneously on the same piece of land
with definite row arrangement is called :

ST HEAM €

(A) Fi¥a wad (A) Mixed cropping

(B) 3= B (B) Intercropping

() fafa = (C) Mixed farming

(D) 3Jgd Ad Heel (D) Sequential cropping

28. Tl BOA @ a9 B SUDIRA fbar 28. The seed of pulse crops is inoculated by :

ST B

(A) TSISTH Heak R (A) Rhizobium culture
(B) il BRA ATl g (B) Blue green algae
(C) Tuilell & (C) Azolla

(D) SUYa H A Bl 7l (D) None of the above

Ag-102 (10) Set-A



29.

30.

31.

Ag-102

WRAR BN 3EEM URYG @I 0T 6

gg oAt ?

(A) 1939
(B) 1929
(C) 1938

(D) 1949
ffoiRad § & $H-91 U &7 o U
a8 ?

(A)  FTEA

(B) BIERIoH

(C) il

(D) SHIE W

STSIMIFIH BiRMe § 3o &1 Ifaed
BT B

(A)  46%

(B) 18%

(C) 20%

(D) 21%

(11)

29.

30.

31.

Indian Council of Agriculture Research

was established in :

(A) 1939
(B) 1929
(C) 1938

(D) 1949

Which of the following is a basic plant

nutrients ?

(A) Carbon

(B) Hydrogen

(C) Oxygen

(D) All of the above

The percentage of nitrogen in Di-

ammonium phosphate is :

(A) 46%
(B) 18%
(C) 20%

(D) 21%

Set-A



32.

33.

34.

35.

Ag-102

frfafed & &4 dF-a1 Y @1 fFdes
Uy qd el © °

(A) Dfesrd

(B) H™IRRM

(©) cRrm

(D) R

THYT B DT IEER ¢
(A) FPo <

(B) &UN

(C) =

(D) (A) 3R (C) &l

S[C e Ge &1 U g 2
(A)  feforge
(B) AT
(C) ferce
(D) T

Y Hhid Ud STTERY ¢
(A) SIS A FT
(B) 3T Bue B

(C) Rel BIftr @

(D) SUYa H A Bl 7l

(12)

32.

33.

34.

35.

Which of the following is not secondary

plant nutrients ?
(A) Calcium
(B) Magnesium
(C) Potassium

(D) Sulphur

Example of sugar crop :
(A) Sugarbeet

(B) Cotton

(C) Sugarcane

(D) Both (A) and (C)

Family of jute is :
(A) Tiliaceae
(B) Malvaceae
(C) Aliaceae

(D) Asteraceae

Ratoon cropping is an example of :
(A) Sequential cropping

(B) Inter-cropping

(C) Relay cropping

(D) None of the above

Set-A



36. ffaiRed # W @MH-a1 W& GAferd 98 36 Which of the following is not correctly

37 matched ?

(A)  TT—UrgT (A) Sugarcane—Poaceae
(B) Wierr—feforgsdl (B) Phalsa—Tiliaceae
(C) legT—Tferudil (C) Garlic—Aliaceae
(D) TgoR— T (D) Niger—Poaceae

37. fafofed & 9 o9-@ W& A @ 37. Which of the following is not a Rabi

B T8l E ? Season Crop ¥

(A) 3T (A) Potato

(B) = (B) Sugarcane

© ] (C) Wheat

(D) (D) Chick pea

38. IRER P qHWIH 9 B 38. Botanical name of Arhar is :

(A) DI B (A) Cajanus cajan

(B) 3IRTSOT Aersdl (B) Oryza sativa

€) Fomm a9 (C) Zeamays

(D) T ®gall (D) Avena fatua

Ag-102 (13) Set-A



39.

40.

41.

42.

Ag-102

fy=forRad & I dH-W B X arel
g7
(A) FUN

(B) ¢
(C) ¥l

(D) Suda Wl

e gHferd el @ :

(A)  ET—3RTEST HeTgdl
(B) ¥T—fammr X
(C) SIR—WREH qgher

(D) TRR—AEW W

gH-71g 8 Ud

(A) TPIEI BEA T
B) fgaila wad =m
() Favly wad 9%
(D) TR qUT B¥iel Tsh

HABT B Feg F Y B e BT U
AT SETERVT &

(A) T B B
(B) AR wodt @1

(C) 3FIhiAd B HI
(D) Ret BIftT @

(14)

39.

40.

41.

42.

Which of the following is a Fibre Crop ?

(A) Cotton
(B) Jute
(C) Mesta

(D) All of the above

Not correctly matched :

(A) Rice—Oryza sativa

(B) Green Gram—Vigna radiata
(C) Sorghum—Sorghum bicolor

(D) Lentil—Cicer arietinum

Rice-wheat is a :

(A) One year crop rotation

(B) Two year crop rotation

(C) Three year crop rotation

(D) Four year crop rotation

Potato is planted before the harvesting of
maize is an example of :

(A) Inter-cropping

(B) Mixed cropping

(C) Sequential cropping

(D) Relay cropping

Set-A



43. TRUYGIR g TP : 43. Weed is a/an :

(A) 3FaBH e (A) Undesirable plant
(B) WA &I U (B) Crop plant
(C) (A) Td (B) TFI (C) Both(A)and (B)
(D) SWE ¥ | FIg el (D) None of the above
44, TR &7 A M § - 44.  Another name of Leguminosae :
(A)  feforge (A) Tiliaceae
(B) el (B) Fabaceae
(ORERIES (C) Crucifereae
(D)  Tferge (D) Aliaceae
45. T ¥ URE @) R B § 45.  Chromosome number in sugarcane is :
(A) 2n=80 (A) 2n=80
(B) 2n=60 (B) 2n=60
(C) 2n=40 (C) 2n=40
(D) 2n=82 (D) 2n=82

St : ,
4. 1 foran o it €l § 46. In which crop the process of Pegging

takes place ?

(A) He (A) Groundnut
(B) HIg, (B) Tobacco
(C) T (C) Sugarcane
(D) 37e] (D) Potato

Ag-102 (15) Set-A



47. 59 ST B GRS SR § UUH N 47.

g7

(A) HERTY
(B) TR U
(C) UuE

(D) ToReIH

48. 1S P fohar fog el H gy © 7 48.

(A) 3]
(B) T
(C) THI%

(D) @UN™

49. TS ¥l BT SN ¢ ¢ 49

(A) 3Tef
(B) T

(C) T
(D) Sudad wd

50. fifeiiRad # @ g @1 BAd @ g 50.

YRUTIR DIF-7 8 ?

(A) WolR¥ AR

(B) TSRS Sacldlid
(C) ThIZeloN fdl
(D) ST W

Ag-102 (16)

Which state has highest rank in foodgrain

production ?

(A)
(B)
(©)
(D)

Mabharashtra
Uttar Pradesh
Punjab

Rajasthan

In which crop does the process of curing

take place ?

(A)
(B)
(©)
(D)

Potato
Sugarcane
Tobacco

Cotton

Example of cash crop is :

(A)
(B)
(©)
(D)

Potato
Sugarcane
Tobacco

All of the above

Which of the following is a major weed

of wheat crop ?

(A)
(B)
(©)
(D)

Phalaris minor
Cynodon dactylon
Phyllanthus niruri

All of the above

Set-A



51. ®UME &I WAl & foly BI9-4 J31 Suga

g ?
(A) et 3T
(B) el Hal
(C) ielG T
(D) Il HaT
52. 9191 @I qaTg &I B :
(A) WIS YRR
(8) fadre qawpeT

(C)  RETOT YUREHRYT
(D) Suga H A Bl el

53. ST Tg™ @1 fhar f69 B § & S

g 7

NI
(B) oM
(C) W
(D) 3

Ag-102

(17)

51.

52.

53.

Which soil is suitable for

cultivation ?

(A) Red soil

(B) Black soil

(C) Alluvial soil

(D) Yellow soil

Sowing of seed is a :

(A) Primary tillage

(B) Secondary tillage

(C) Conservation tillage

(D) None of the above

cotton

In which crop the process of earthing is

done ?

(A)  Wheat

(B) Paddy

(C) Maize

(D) Potato

Set-A



54,

55.

56.

S57.

Ag-102

HH-U B qYAvSed A8glo @ a1 54.

T ReriNo Beel 8 ?
(A) fIes Bl
(B) TolE BVl

(C) 3TN dTell H¥e]

(D) T dTel B¥Iel

SeRiM 73T &1 f-Ta. e B 55,

(A) 7.8
(B) 7.0
(C) 80
(D) 9.0

RIS H I BT Ufrd 8T B 56.

(A) 18-22%
(B) 20-25%
(C) 45-50%
(D) 30-40%

el 1 o v I W die § 7 57.

(A) U™

B) ¢
(C) |

(D) HddT

(18)

Which crop fixes atmospheric nitrogen in

the soil ?

(A) Oilseed crops
(B) Legume crops
(C) Cereals

(D) Fibre crops

pH of neutral soil is :

(A) 7.8

(B) 7.0

(C) 8.0

(D) 9.0

The percentage of oil in soybean is :
(A) 18-22%

(B) 20-25%

(C) 45-50%

(D) 30-40%

Pink boll worm is a major insect of which
crop ?

(A) Cotton

(B) Jute

(C) Mustard

(D) Maize

Set-A



58. TMER B Wig H fhad ufowd dgere 58.  What percentage of nitrogen is in farm

2
R, yard manure 7
(A) 0.5% (A) 0.5%
(B) 0.2% (B) 0.2%
(C) 0.3% (C) 0.3%
(D) 0.4% (D) 0.4%

59. frHfaRad § § $9-91 9 P @re 59. Which of the following is not a bulky

Tl B ? Organic manure 2
(A) TR 3l EE (A) Farm yard manure
(B) TGRS (B) Vermicompost
C) TR (C) Green manure
(D) el (D) Oil cakes
60. Tefgl Huell H TR Bl & - 60. Legume crops are rich in :
(A) BERRESS B (A) Carbohydrate
(B) URCH @I (B) Protein
(C) T @I (C) oil
(D) 9T D (D) Fat

Ag-102 (19) Set-A



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

4, YE-YRAH H U W & IR GRITIT STR—
A, B,CTd D& | Wendi & S IR fddedi # 9
TP FE FE T GeH SHE SR Bl © |
IR Bl OMR NRR-e § Fid go dwar §
e JR WA 2
SRR
'EL
1 @ © O
w2 (A ® O
w3 D @ © ©
G IR AT WY TR = plel I7 987 T
2, T T | ST R A7 T, S R IR
feam S |

5. UAP UM B b GEM & AP fordd SR
e B, I B AR 3P YIM b SR |

6. T SR dad 3l TH. 3R, SR-U5F (OMR
Answer Sheet) R 8 A 99 2| SRS |
fRgiRd Yo & 3remar 3 del W foar wan
IR A=Y 8] 81|

7. il TH. 3R. STR-U5& (OMR Answer Sheet)
B W foras 9 @ I oI W W et @
WYY Ue fora S |

8. WIeT 9Ud & ST Wt der fRierd @
3T OMR Answer Sheet SUTE &RM & I
B WeT B W W By | weneff oo ey
TE-QRAHT o S A ¢ |

9. fanfeq mfeT = 2|

10. @15 A WG BR, YH-YRAdE & 3 H, WH-IR
& forv fou @reh o W & far o =iy |

11, UE-%e ¥ dN-ga, deldeicy, Yok a0l Heger
B o SHT T BT START BRAT afoid 8 |

12. 9 & B U9 IS WURRY § A=ar 89 &
T H YT BT U WURYT & A BT |
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